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39808 |NTEZKOZX KQONZTANTINOZ EYAITEAOZ T 084180 |Oxi| Ox1| 1 39 4 4 11,85| 101 800 [ 200 0 110 O 0 |237,00] 420 | Oxi 1 Oxi [ 1.767,00 1
38941 |[AHMOY IQANNHZ FEQPIIOX AH 646808 [Ox1| Oxi | 1 16 14,22] 18 800 0 0 0 0 0 [284,40( 126 | Oxi 1 Oxi | 1.210,40 2
40903 |KETZAKIAHZ MEPIKAHZ FEQPTIOX AK 865219 |Ox1| Oxi | 1 20 16,00 800 0 0 0 0 0 320,00 0 Oxi 1 Oxi [ 1.120,00 3
40068 [BENTOYPH MIXAEAA - AIKATEPINH [FEQPTIOZ AB 943202 [Ox1| Oxi | 1 10 18,22] 8 650 0 0 0 0 0 |364,40| 56 Oxi1 1 Oxi | 1.070,40 4
40164 |[XAMOGOPAKITHZ XAPAANAMINOZ XAPANAMINOZ X111809 |[Oxi| Oxi | 1 12 1 11,00 800 0 0 0 0 50 [220,00 0 Oxi 1 Oxi [ 1.070,00 5
40417 |MIMNAETZA MAPIA EYPIMNIAHZ > 553402 [Oxi| Oxi | 1 1 1 16,91| 81 0 0 0 30 0 0 |[338,20] 420 | Oxi 1 Oxi| 788,20 6
40896 |MIMPEMMNOY ZODIA NIKOAAOZ =466037 |Oxi| Ox1| 1 15,00 62 0 0 0 0 0 0 |[300,00] 420 | Oxi 1 Oxi | 720,00 7
40868 [MNATMATCEQPIIOY AHMHTPA MANATQTHZ AE 613591 [Ox1| Oxi | 1 ) 14,001 23 275 0 0 0 0 0 |[280,00| 161 Ox1 1 Oxi| 716,00 8
39571 |BAANAZ XPHZTOX AGANAZIOX AE 529876 |Ox1| Oxi | 1 1 13,08| 66 0 0 0 30 0 0 |261,60] 420 | Oxi 1 Ox| 711,60 9
38656 [MEPIAAY NAMIMPOZ ANEZANAPOZ X 000208 [Oxi| Oxi| 1 13,77] 95 0 0 0 0 0 0 [275,40( 420 | Oxi 1 Oxi| 695,40| 10
39279 |XTAMATOINOYAOZX NIKOAAOZ AHMHTPIOX AA 425285 |Ox1| Oxi | 1 2 2 11491 37 0 0 0 0 0 100 |298,00] 259 [ Oxi 1 Ox | 657,00] 11
38815 |KOPAANTQNOIMOYAQY |EIPHNH XPHETOXZ 2 674169 |Oxi| Oxi | 1 6 14,23 350 0 0 0 0 0 |284,60 0 Oxi1 1 Oxi| 634,60] 12
40505 |KAPATKIOZHZ IQANNHZ AHMHTPIOX AK 006208 |Ox1| Oxi | 1 3 |10,70] 37 0 0 0 0 0 150 |214,00] 259 [ Oxi 1 Ox1| 623,00 13
40173 [MAPATIOYTZIKOY AIKATEPINH SMNYPIAQN P 409511 [Oxi| Oxi | 1 16,00 41 0 0 0 0 0 0 |[320,00] 287 [ Oxi 1 Oxi| 607,00] 14
40163 |TPIMHX ANAPEAX ZTYAIANOZ Al 676529 |Oxi| Oxi | 1 4 1 11,36 200 0 0 30 0 0 |[227,00 0 Oxi 1 Ox1| 457,00] 15
41268 [MANATIQTOMOYAOZ ANAPEAX XPHETOZ X 841229 |[Oxi| Oxi| 1 4 1 11,00 0 0 [ 200 ]| 30 0 0 220,00 0 Oxi1 1 Oxi| 450,00 16
40566 |KAZIAIAPHZ OEOAQPOX ZAPANTOZX AA 040750 [Ox1| Oxi | 1 2 117,00 0 0 0 0 0 100 | 340,00 0 Oxi 1 Ox1| 440,00] 17
39824 [ZEBAZXTIAQY MAPIA NIKOAAOZ AB 209246 [Ox1| Oxi | 1 15,001 18 0 0 0 0 0 0 [300,00f 126 | Oxi 1 Oxi| 426,001 18
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38499 |[TPAMMENOY ZTYPOYAA FEQPTIOX 2129111 [Ox1| Ox1 | 1 3 2 11,00 18 0 0 0 60 0 0 |[220,00] 126 | Oxi 1 Ox1| 406,00] 19
39984 [ZIAMMNEKA MAPIA XPHETOX AH 134384 [Ox1| Oxi | 1 15,78] 12 0 0 0 0 0 0 |31540| 84 Oxi1 1 Oxi| 399,40| 20
40910 |©OEOAQPOINOYAOZ IQANNHZ MANATQTHZ X 359607 |Oxi| Oxi | 1 16,00 9 0 0 0 0 0 0 |[320,00] 63 Oxi 1 Oxi| 383,00] 21
38493 [POYZZIHX EMMANOYHA FEQPIIOX X 601433 [Oxi| Oxi| 1 16,10| 8 0 0 0 0 0 0 |322,00] 56 Oxi1 1 Oxi| 378,00 22
39611 NMOYAOMNOYAQY MANATIQTA KQONZTANTINOZ 1949635 [Oxi| Ox1 | 1 17,23 0 0 0 0 0 0 |344,60 0 Oxi 1 Ox1| 344,60| 23
40780 [AABPHX FEQPIIOX KQONITANTINOZ Al 086813 [Oxi| Oxi | 1 14,87 0 0 0 0 0 0 297,20 0 Oxi1 1 Oxi| 297,20| 24
38952 |AAXANH ZAMYOYAA FEQPTIOX AA 025854 |Ox1| Oxi | 1 1 12,00 8 0 0 0 0 0 0 |240,00] 56 Oxi 1 Ox1| 296,00] 25
39201 [AITEAHZ FEQPIIOZ EYAITEAOZ AK 128064 [Oxi1| Oxi [ B 8 68 500 0 0 0 0 0 0,00 420 | Oxi B Oxi| 920,00 26
40438 [KOY®OIIANNH MAPIA AHMHTPIOX AK 018249 |Oxi| Ox1 | B 4 77 0 200 0 0 0 0 0,00 420 | Oxi B Oxi| 620,00] 27
39807 [ETPATHAATH ANTITONH AHMHTPIOX X 019807 |Oxi| Oxi | B 5 38 | 2715 0 0 0 0 0 0,00 266 | Oxi| B [Oxi| 541,00] 28
38711 |MIMETKAZ FEQPTIOX NIKOAAOZ 391135 [Oxi| Oxi1 | B 2 98 0 0 0 0 0 0 0,00 420 | Oxi B Ox1 | 420,00] 29
40785 |KATZIQTH EIPHNH NIKOAAOZ AH 746078 [Oxi1| Oxi [ B 48 0 0 0 0 0 0 0,00 336 | Oxi B Oxi| 336,00 30
40604 [KE®AAAHNOZX IQANNHZ ANAZTAZIOZ X 118081 |Oxi{ Ox1| B 44 0 0 0 0 0 0 0,00 308 | Oxi B Oxi| 308,00] 31
40221  [KYPIAKIAOQY XPYZOYAA AOANAZIOZ AK 652024 [Ox1| Oxi | T 11 2 34 725 0 0 0 0 100 | 0,00 238 | Oxi r Oxi | 1.063,00] 32
39987 |MHTZAKOY AZHMINA AHMHTPIOX Al 554382 |Oxi| Ox1| I 20 2 15 800 0 0 60 0 0 0,00 105 | Oxi r Ox1| 965,00 33
40908 [PABBA MAPIA AHMHTPIOZ T586219 [Oxi| Oxi| I 13 2 8 800 0 0 60 0 0 0,00 56 Oxi1 r Oxi| 916,00 34
40589 [FTOYNEAA-AEM®ANTZH |AEZMNOINA AHMHTPIOX Al 090552 |Oxi| Oxi | I 15 8 800 0 0 0 0 0 0,00 56 Oxi r Ox1| 856,00 35
39124 [TZEAIOZ KQONZTANTINOZ NMETPOX AA 040785 [Oxi| Oxi | T 9 11 515) 0 0 0 0 0 0,00 77 Oxi r Oxi| 652,001 36
40544 |MANTZIOZ KQONZTANTINOZ XPHETAKHZ X 362236 |Oxi| Ox1| I 7 13 425 0 0 0 0 0 0,00 91 Oxi r Ox1| 516,00] 37
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40915 |BAZIAEIOY XPYZTAANNENH BAPNABAZX T 307912 |Oxi| Ox1| I 5 2 18 0 0 [ 250 | 60 0 0 0,00 126 | Oxi r Ox1| 436,00] 38
39870 [KAAAIQPAX AMOZTOAOZ HAIAZ Al 684255 [Oxi| Oxi [ T 4 24 0 0 [ 200 0 0 0 0,00 168 | Oxi r Oxi| 368,000 39
40435 |XTAMATEAOZ AHMHTPIOX IQANNHZ AK 114474 |Oxi| Ox1 | T 34 0 0 0 0 0 0 0,00 238 | Oxi r Ox1| 238,00] 40
39696 [KOYDAKH EYAITEAIA NIKOAAOZ AE 628183 |Oxi| Ox1 | T 1 3 8 0 0 0 |[110f O 0 0,00 56 Oxi I [Oxi| 166,00 41
38662 |PPANTZEZKAKHZ ZTYAIANOZ EYAITEAOZ X 650769 |Oxi Oxi| I 1 15 0 0 0 0 0 0 0,00 105 | Oxi r Ox1 105,00 42
40576 |KPONTHPAX MANATIQTHZ BAZIAEIOX AZ 552734 |Oxi| Ox1 | T 6 0 0 0 0 0 0 0,00 42 Oxi r Ox1 42,00| 43
o
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